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NetEyeBox(D) V.2.0
(Ethernet to DI/PI/DO+RS485)

DI/PI/DO + RS485 Product

Part Number : 3301-Ethernet

O

SM Information and Communication

Homepage : http://lwww.smic21l.com
Support . +82-2-6292-2100 khg@smic.co.kr, smic21l@smic21l.com
Address :A-705 Sktwintech Bld. Gassandong, GeumcheonGu,

Seoul Korea Zip 153-023
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Device Feature

I/0 channel number-----8DI(PI)6DO+1 Serial(RS485), OptionRS232

Input range +12V~+36V

DI/PI Input signal Wet Contact, Falling Edge

DOI Output signal Open Collector

Counter frequency------------- 100Hz@8channels;1000Hz@1channel

Counter length 32-hit

Output BUS WiFi 802.11g

Output Protection Lightening, static

Power input 9~12V(AC/DC)

Power consumption <0.6W

Ambient temperature:

Operation -20~70°C(-13~185°F)
Application:

® Remote data acquisition

® Process monitoring

® Industrial process control

® Energy management

® Supervisory control

® Security systems

® Laboratory automation

® Building automation

® Product testing

® Direct digital control
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6. NetEyeBox(D) Data Communication

NetEyeBox(D) o| TCP/IP & Z£0| H&35IH Modbus Protocol £ E3+0] Modbus Register

Mapo| L182 Q7L 2 4 QUrt.
® Modbus Protocol

4% B0l AR Rl E ™E = Protocol O|CH FZ2 LCHASH PLCRE E412 & DI/DO/AIS Of 2
THOf MBI Y S WHS MBI JBL OFF TIEHSICH G&EH Z2E 2D}
Memory MapO| X| & ElC}.. Hardwaree= Master@t SlaveZ2 & EICH(TCP/IP 80 Z+& Client
Q} Serverg2tl 3HC}H). Datag NS ELj= =0| MasterO| 11 ClientO|C}. Hardwarel 59| X %Et
7b53t MemoryO| Memory MapO| XZE|D Q1 2= Datag EHLH 10 izt
Memory MapOi| A CH S &= HIO|HE 43t 22 =[O ALK

o d=2

S
Memory Map Data Request $
)P
L)
2 El Memory Data
Master(Client) Slave(Server) Device

Modbus Protocol®| Data Packet= 25 Hexa ValueE AtE23IH LIS HAHO Type= 7tHX|
T QX|2F =Z READLF WRITEDH AF2 ZICtH READ= Type 0x030|10 WRITE= Type 0x060]|Ct.
Master = Slave DeviceQ| ID2} H2H0{2| Type(READ or WRITE), Memory Map2| address2}
7t™ & Data Packet (Register =2 & E)2| &= 12|11 Error Detection= 23t 2bytes2| CRC
£ EUCLO|0| CHSIY] Slaves Z2 HENE @8 &l Data Packete 2 & $tLCt. SlaveZt Of 2
| 20{= TCP/IP2| Socketdt 2tQ1S E510] ZEet 84 & = ULL =2 = 0| L45}Ct
28 channel?| EX| = 7}=38ILC}.
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BYTES

Bytesl
Bytes2
Bytes3
Bytes4
Bytes5
Bytes6
Bytes7

Bytes8

& X ol Modbus Protocol?| Packet 1L =.

Y (25 HEXA Value2 HXstL|C})

RS48592| Device ID
READ or WRITE 7|
AL 27| & Memory Map?2| A|Zt =4 Address

Al

1

I &4 Address 2| High byte

Al

i

f &2 AddressQ| Low byte
AAHL 27| = Register(lword)2| 5=
CRC high bytes

CRC low bytes

NetEye3XXX Series Default Parameters

Address of device: 254 7§ ID
Baudrate: 19200 Default

Channel: enable all channels

Filtering: 200us~300mls for frequency input



CRC Error Correcting Details

«» Check field calculation Sample Code in C language)

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <conio.h>

unsigned short CRC16(unsigned char *, int);

void main()

{

unsigned char SendData[10], *pMsg;

unsigned char Len;

unsigned short crc16=0xffff;
pMsg=&SendData[0];
Len=0x06;
memset(&SendData[0], 0x01, 1
memset(&SendData[1], 0x03, 1
memset(&SendData[2], 0x00, 1
memset(&SendData[3], 0x64, 1
memset(&SendData[4], 0x00, 1
memset(&SendData[5], 0x01, 1
crc16= CRC16(pMsg, Len);
printf("CRC16 is %x\n", crc16);
system("pause");

}

== = = =
—_— — — — — ~—r

unsigned short CRC16(unsigned char*addr, int num) {

unsigned short CRC = OxFFFF;
unsigned short CRCT= 0x0000;
inti;
while (num--) {
CRC "= *addr++;
for (i=0;i<8;i++){
if (CRC & 1)
{
CRC >>=1;
CRC A= 0xA001;
}
else { CRC>>=1; }
}

}
CRCT=CRC;

CRCT=CRCT<<8;
CRC=CRC >>8;
CRC=CRC | CRCT;
return CRC;

}



Setting T=Aj

1. NetEye 1500 Setup Programs Al&iSHC

2. NetEyel500 Manual2 www.smic21l.com0 Al Down B0} Setting SFL}.

3. 1/O Device Parameter HZd A| NeEyel500 Serial PortE RS485Z, Baudrate= 19200 bps, N, 8,
12 Settingsto] EXMEEE S & I/O Devicel| Parameter ( Device ID, Baudrate 52 HZAE &
= ACH

4. Program2 2 EAl HAE 8}7| MO ZH|E HAESH7| 38t www.smic21.com 0 AJ{CRCCreate
o232 down Bt Netkyel500 Setup Program?®| Tool Menu Of| A{ Simulator £ 0| &35}0{ I/O

Device EA1E HAESHC}.

—
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sl CRCARAM

CRCER |CRCIE Data=2& |HEX

=Ag |DI (300640001

Convert |EIIEBDEIEQDDEI1C5D5

: h‘[ neteyels0

File(F) Cor

Y -“Jerles Search Program ) SITNC httpy/wwwsmicz1.com |
Local Setup 1

Device Mame Lacation ModelMame IP Address Subnet Mask Gateway Mac Address
MNetEye 1500 MetEye 1500 192 168.10.198 255 255.255.0 192.168.1001 D0 0EE30132DB

¥y Neteye Sim Ver2.53 (2004/07/26) (===
[ MetEye ]
(+ Semer Destination IP [192 [168 [10 [198 PortNo [8000 ¢ Client SimulatoriP [192168.10.106  Port Mo |
[ Action ]
i~ ASCI " Receive Only " Receive & Send Receive Data " Repeal  Time gap |1 'l(sec}
¥ HexA ¥ Send Input Date & Receive  Receive & Send Input Data & OneTime  ~ount Im

~[ ™ Program Mode

0 byte 0 bvtes 0 byte
15tep | 2 Step | 2 Step | 45tep |

Time Gap I 'I(ms) Time Gap I 'I(ms} Time Gap I 'I(ms) Start |

~ [ Log Level ]
" Mone & List (" File " List+File
Logfile |C:".F'r-:|gram Files\NetEye15000Log\20110309.dat |

~ [ Data Input
[Data Input] 8 bytes

|010300640001C505 Send OneTime

Log Clear Close | Connect |

[20:20:23.924] : Connection Success
[20:20:25.032] : Send [8 byte] - 0103 00 64 00 01 C5 D5

20:20:25.047] - Recv [7 byte] - 01 03 02 00 00 B8 44

4. CRCcreat.exe Program: CRC16 check sum data& 2 bytes 24 A|ZIC}.
NetEye Simulator: &= NetEye Setup Program@| SimulatorE S3}0{ NetkyeS33022 S41517| ¢
10y Modbus Protocol0f| 2|t Request Datag & HC}.
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6. Of2f= Z7|0f Device IDE =}QIst= HHO|L},

Device ID 29| HitH

1) PC-> NE3302
ADDR L Value(HEX) H|
0 ks ff Broadcast ID
1 Read/Write 03 Read Mode
2 GO 0 NES33029] ADDR
3 ADDR-L 06 Register
4 Data Count -H 00 Reading Register
o| M4
5 Data Count -L 01 Zar
6 CRC-1 71 H ALAl
7 CRC-2 D5 H ALAl
2)PC<-NE3302 S &
ADDR e Value(HEX) H|
0 s ff
1 Read/Write 03 Read Mode
2 Count 02 Data Count
(ADDR9~10)
3 s 00
4 Device Add NES33022°| M™El
evice ress X7|X| FE 254) OO | 2o ?_:'xHE FEE AE-lxo-lEIO'I 91%
5 CRC-1 0 H AbAl
6 CRC-2 0 H AbAl
Device ID tH7] Hitd
3) PC-> NES3302
ADDR (WE= Value(HEX) Hl 2
0 S0 NES4300S2)
|D ADDR [FE ID ADDR
1 Read/Write 06 Write Mode
2 ADDR-H 00 NE33022| ADDR
g
3 ADDR-L 06 Register
4 8 ADDR -H 00
5 NES33022] -
%8 ADDR -L 01~FE B2 2 D ADDR | HE‘_ 01~FE 7}IX| &2
a3 g =+ AUk
6 CRC-1 BC H &4

7 CRC-2 04 Hl &k

>
Iz



[21:14:04.077] : Send [8 byte] : 0103 00 64 0001 C5 D5

[21:14:04.092] - Recv [7 byte] - 01 03 02 FF FF B9 F4

7. M7|9] EAILEE Device ID 01°| NetEyeS3302 devicedj| Al Hexa 0x64 = 100H W register
0l M Register 174E 2= LigOIC}

8. Device 012 £ E Register 17| 2bytes FF FFE 2 Z1} O|C}. 100 HX]| register= Digital
Input2| HEHS LIEHHCE

9. 100 HX| register®| 2 bytes= 16 channel?| Digital Input & E{E L{EFHCE In-active & Of 1,

Active & AHTIQO| A7} =[S I 0 O] bit E= LT EICE

[21:19:34.641] : Send [8 byte] - 0103 00 64 00 01 C5 D5

[21:19:34.656] - Recv [7 byte] - 01 03 02 FF FE 78 34

10. &719| LHEE ATl 2 bytes?t FF FE =16 Digital Input Channeld & HA| x| 0| 02 2 set
EOZl A 2o|O] oot

[21:29:58.906] - Send [8 byte] - 01 03 00 64 00 03 44 14

[21:29:58.922] : Recv [11 byte] - 01 03 06 FF FE 00 00 00 10 1D 52

11. 2719] L8 ATl 2 bytes?t FF FF = 16 Digital Input Channeld & HR{| X< 0 Count
L[0Tl ==At7F Hexa 10 = 167 =& & A2 2|otCt

12. CtE X 2 & registergt address?t 0x64, Ox655 2 2 HHIO{ M CIE xjE 0| MEfE 240 = 5= U
Ct.



13. Counter Reset

100 R register 00 64 O A 3 7§2| address& 2i+=CL}.
DI 16 ch O| FF FE Ol A EHM| chQ| Counterg}O| Hexa 00 10 = 160|LC}.
f21:29:58_9[15] * Send [8 byte] - 0103 00 64 00 03 44 14

[21:29:58.922] : Recv [11 byte] - 01 03 06 FF FE 00 00 00 10 1D 62

® 102H 7 register 00 66 2 0 2 £ reset St}

0 © 2 reset o+ AckE BH=CLC}.

[21:43:57.919] : Send [8 byte] - 01 06 00 66 00 00 69 D4

[21:43:57.981] : Recv [8 byte] - 01 06 00 66 00 00 69 D&

® 100EM| register 00 64 O|AM HE{ 4742| addressE 20| £ LCt.

® DI 16 channelMEfQF A WY chQ| Counterg}O| 02 &2 reset=l A& & = UL}

[21:46:39.191] - Send [8 byte] : 0103 00 64 00 04 05 D6

[21:46:39.207] : Recv [13 byte] - 0103 08 FF FE 00 00 00 00 00 00 C51C
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3301-Ethernet(8DI/Counter/6D0) Register Map.

* @ E ZHE2 ProgramA|0f HEXA ValueZ HILO| AL2%tL|C}.

Value range
Address Bytes \fin ax Description Property
0-3 4 1 | 4254967295 | Serial mmberunique for each product E
4.5 2| 100 63535 Fimware version number i
6 1 1 25 Device address RW
7 2350 3301 Product model R
8 1 1 255 Hardware version i
Baundrate setting
Value Buadrate
12 1200
M 2400
48 4800
96 Q600
2 2 2
? N 12 12 192* 19200 R
384 38400
576 57600
1152 115200
For example-write 96 to register @ to set the baudrate
9600.
10-99 - - - Feserved -
Status for digital mput chammel 1 through 2 0 =
100 1 0 255 contact active,1 = contact inactive Bitd comespond to R
chanmel 1 bit] correspond to channe] 2 and so on
101 1 0 133 Open-collector n::uurpur.(.l = active.] = mactive Bitd W
comespond to cutput 1.bitl correspond to channel 2 ete.
102 2 0 63535 High word for counter imput 1 EW
e Low word for coumter mput 1 valee of commter = (1023
¥ "'} : 5 i T
103 2 0 65335 +65536 £ (103) RW
104 2 0 63335 High word for counter impt 2 W
105 5 0 65535 I_;a*fi.f word for I:lif‘l..mtfr mput 2 value of coumter = (1043 RW
*63336+ (103

Contime. ..
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3301-Ethernet Register Map.

* O E ZHE2 ProgramA|0f] HEXA Value2 HI3L0{ At28tL|C}.
Value range
Address | Bytes i M Description Property
106 2 0 63535 High word for counter input 3 EW
ceqs Low word for coumter mput 3 value of commter = (1063 .
- . . : R
i e e B TR ol o
108 2 0 65533 High word for counter input 4 W
109 ) 0 65535 ]:;r; ;;D_I'_d f:}rl Egmjutfr mput 4 value of counter= (1083 RAW
110 2 0 65535 High word for counter input 5 RW
1 ) 0 65535 ]:g; ;;D_I,_d ilu-rl i:?;mter mput 3, value of coumter= (1100 BW
112 2 0 63533 High word for counter input 6 BW
e Low word for coumter input & value of commter= (1123
113 2 0 63533 ' W
T | *65536+ (113
114 2 0 63333 High word for counter input 7 W
. e Low word for counter input 7 value of coumter= (1147
115 2 0 63533 ' BW
3 *65536+ (115)
116 2 0 63535 High word for counter input 2 RW
17 3 0 65515 l.u:m: word for n:fuuter mput 3 value of commter = (1167 R
*5336+ (117}
Fespond delay for serial commmmication, the units is ms .
13 ! ! 100 and default is 1(ms RW
_ Filter time for counter input, the umits is 10us and the
119 1 1 155 ' RW
defanlt 15 20us
120 1 0 155 D'.lsab]a'ﬂlablel ].DP‘[I'LDI = disable and .1 = enable Bit{) B
correspond to inputl, Bitl comespond to input 2 and so on
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3302-Ethernet (16DI/Counter) Register Map.

* B E ZHE2 ProgramA|0f HEXA Value2 H}3R0{ AF2%HL|C}.
Modhus egister lisi: Mote: *means defauli value
Value range
Lkdress Botes Min M Description Property
0-3 4 1| £2249672095 | Serdal narober,urie for each product R
45 2 | 100 A3535 Firroware vesion mraher R
& 1 1 254 Dievice address R
T 2 | 3302 3302 Product mode] E
a 1 1 235 Harbwrare wersion E
Bandrate sefting
Walue Buadrate
12 1200
24 2400
48 4E00
9 2 12 1152 2 2600 R
192+ 19200
384 38400
576 5700
1152 115200
For examplerwtite 96 to register @ to set the bandrate
Qa00,
1092 - - - Reserved -
State for digital inged charmel 1 throush 16, 0 =
100 2 1] B3535 cobtact actiee, 1 = contact inactmee Bit0 correspond to 28
charmel 1 hitl cornespond fo channel 2 efe.
1m 2 1] 65535 High word for counter input 1 R
Lo wrord for counter gt 1 walne of comder= (1012
102 2 o 63535 W
#3536+ (1020
102 2 1] 65535 High word for counter ingmt 2 R
Lovar wrord for conruter irgat 27value of conrder = (1032
104 2 o 63535 WSTE+ (104) R

Continue. .
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3302-Ethernet Register Map.

Walue range o
Lkdress Botes Wiz, Wz Description Property

105 2 1] 65535 Highword for counter inpat 3 R
Lo word for counter ingnt 3,valne of courder = 1105)

106 2 o 65535 ! R
*3536 + (10687

107 2 1] 65535 Highword for connter inpnt 4 R
Low word for conrder ingnt 4value of counter = (1070

108 2 o 63535 W56+ [102) R

109 2 1] 65535 Highword for connter ingot 5 R
Lo weord for counter ingnat 5valne of cournter = 11097

110 2 o 65535 %5536+ (110 R

111 2 1] 65535 Highword for counter inpat & W
Lo weord for counter ingnat 6,value of courter = (11170

112 2 o 63535 W56+ (112 R

113 2 1] 65535 Highword for connter gt 7 W
Low word for conrder ingnat 7 value of counter = (113

114 2 o 65535 K556+ (114) Ry

15 2 1] 65535 Highword for connter ingot & R
Lowr word for counter ingnt 2 value of courder = 1115

114 2 o 65535 ! R
*3536 +  (1168)

117 2 1] 65535 Highword for counter ingat 9 W
Lowr word for conrder ingnt 9 5value of counter = (1177

115 2 o 63535 w5364+ (113 R

19 2 1] 65535 Highword for connter inpntl0 R
Lo weord for counter ingnat 107ale of comter = (119)

120 2 o 65535 ’ R
*5536 + (1200

121 2 1] 65535 Highoword for counter inpmt 11 W
Lo weord for counter ingnat 11 5alue of conxter= (1212

122 2 o 63535 ’ R
*I53E + (1227

123 2 1] 65535 Highword for connter ingmt 12 R
Low word for conrder ingnt 12 3alie of courter = (123)

124 2 o 63535 ’ Ry
IS+ (124

125 2 1] 65535 Highword for counter ingat 13 R
Lo weord for counter ingnat 13 wale of conrter = [125)

126 2 o 65535 RS+ (196) R

127 2 1] 65535 Highword for counter ingnt 14 RrwW
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3302-Ethernet Register Map.

128

65535

Lo wrord for counter vt 14.value of comder = (1273
#3536+ (128D

128

B5535

High word for connter ingmt 15

130

B5535

Lovar wrord for courder irgrat 15 value of courter = (129)
*a536+  (130)

131

65535

Highword for counter ingut 16

134

B5535

Lo wrord for counter vt 16 valne of comder = (1312
*5536+ (1320

133

100

Fespond delay for serial corarounication, the urdts iz s
and default  is 10wms

134

255

Filter tirne for comrder ivgut, the units iz 10us and the
defanlt iz 200us

135

255

Disablelengble input0 = dissble and 1 = enable Bifd
comrespond to ingatl, Bitl correspond to ingat 2 and a0
on.

136

255

Dizshlelengble ingput0 = dissble and 1 = enable Bifd
correspond to pntd, Bitl corespond to ingut 10 and a0
on.




